The Rules

y =sin( x) y =cos( ) y =tan())

y' =cos(y) y'=—sin( ) y' =sec?( x)

y =sec(Y) y =csc(y) y =cot(y)

y' =sec( y) tan( x) |Y = — csc(x) cot( x) y'=—csc2(x)

y=sin(f(X)) >y =cos(f(X))x f'(X)

y=cos(f(X)) —»y'=-sim(1(X))x1(X)
y= tan(f(X)) -y —secz(f(X))xf (X)

y=sec( (X)) —>y =sec( tan (X
y= csc(f(X) —>y——csc cf@ )\%

y=cos™(X) -y’ =ncosn_1(X) x — sin( X)
y=tan?( X) - y'=ntan~ 1(X) x sec?(X)

y=sec?(X) »y'=nsec?" 1(X) x sec(X) tan( X)
y=csc™(X) = y'=ncsc? 1 (X) x — csc(X) cot(X)

y=cot?’( X) - y'=ncot"~ 1 (X) x —csc?(X)



